Accessories - One Arm Drive Assemblies

Solid Tire
Pneumatic Tire

Side Frames Shown
For Reference Only

mW:
=
.mO
Q
-
9 a
ES
[S 4
“ o
LA
[}
pii
v W




Accessories - One Arm Drive Assemblies

Item
Number

Note

Part Number

Description

Quantity Per

Package

Assembly

1

P OO WNNOOOOPR~WDN P OO WNOOOOPMWDN

P O W NN WDN

N NO O WDN

4

1513269

1509382
1508491
1508488
1513270

1508487
1509382
1508491
1508488
1513271

1511769
1509436
1508488
1513272

1509436
1508490

One Arm Drive Assembly, Pneumatic w/ Hardware
(15-17"W)

Shaft, Telescopic, One Arm Drive (15 - 17" W)
Wheel, Active, Pneumatic, DHR (24")

Wheel, Passive, Pneumatic, DHR (24")
Bushing, Quick Release

Washer, Serrated (M20.3 x 30mm x 1.5mm)
Nut, One Arm Drive

Wheel, Active, Pneumatic, DHR (24")

Wheel, Passive, Pneumatic, DHR (24")
Bushing, Quick Release

One Arm Drive Assembly, Pneumatic w/ Hardware
(18 - 20" W)

Shaft, Telescopic, One Arm Drive (18 - 20" W)
Wheel, Active, Pneumatic, DHR (24")

Wheel, Passive, Pneumatic, DHR (24")
Bushing, Quick Release

Washer, Serrated (M20.3 x 30mm x 1.5mm)
Nut, One Arm Drive

Shaft, Telescopic, One Arm Drive (18 - 20" W)
Wheel, Active, Pneumatic, DHR (24")

Wheel, Passive, Pneumatic, DHR (24")
Bushing, Quick Release

One Arm Drive Assembly, Solid w/ Hardware (15 -
17" W)

Shaft, Telescopic, One Arm Drive (15 - 17" W)
Wheel, Solid, Active, DHR (24")

Wheel, Solid, Passive (24")

Bushing, Quick Release

Washer, Serrated (M20.3 x 30mm x 1.5mm)
Nut, One Arm Drive

Shaft, Telescopic, One Arm Drive (15 - 17" W)
Wheel, Solid, Active, DHR (24")

Bushing, Quick Release

One Arm Drive Assembly, Solid w/ Hardware (18 -
20" W)

Shaft, Telescopic, One Arm Drive (18 - 20" W)
Wheel, Solid, Active, DHR (24")

Wheel, Solid, Passive (24")

Bushing, Quick Release

Washer, Serrated (M20.3 x 30mm x 1.5mm)
Nut, One Arm Drive

Wheel, Solid, Active, DHR (24")

Wheel, Solid, Passive (24"

1

PR RRPRRPRRLRRERPR PR RPRRPRPRRPRRERRRERR PR RRPRRPRRLRREREPR

PR R RPRRPRR R

1

P NRPRPNMNNNRPRRE RPNRPRPRENNNRPRRE RBPNRPRERNNNR R R

PR NN R R

NOTE: A -Includes items 3 - 7.




